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4. In which one of the following regions was :

' Dhanyakataka, which flourished as oy wovy
a prominent Buddhist centre under
the Mahasanghikas, located?

one of the following explains
the practice of Vattakirutal’ as
mentioned in Sangam poems?

(a) Kings employing women

(a) Andhra bodyguards
(b) Learned persons assembling in
(b) Gandhara royal courts to discuss religious
_ and philosophical matters
(c) Kalinga () Young girls keeping watch over
agricultural fields and driving away
(d) Magadha birds and animals
| (d) A king defeated in a Dbattle
| With ref . . _ committing ritual suicide by
2. With reference to ancient India, consider starving himself to death

the following statements :

5. C ider the following dynasties :

1. The concept of Stupa is Buddhist - iy d
in origin. 1. Hoysala

2. Gahadavala

2. Stupa was generally a repository

of relics. 3. Kakatiya
4. Yadava
3. Stupa was a votive and
commemorative structure in How many of the above dynasties
Buddhist tradition. established their kingdoms in early

eighth century AD?

How many of the statements given (@ Only one

above are correct? (b) Only two
(c) Only three
(@) Only one (d) None
(b) Only two 6. With .reference to ancient Indian History,
consider the following pairs :
(c) All three 2 _
Literary work Author
(d) None 1. Devichandragupta : Bilhana
9. Hammira-Mahakavya : Nayachandra Suri
3. With reference to ancient South India, 3. Milinda-panha : Nagarjuna
Korkai, Poompuhar and Muchiri were A, ) \
well known as 4. Nitivakyamnta : Somadeva Suri

How many of the above pairs are

(a) capital cities
correctly matched?

oy geste (a) Only one

ly tw
(c) centres of iron-and-steel making ;Z)) 82; th:ee
(d) shrines of Jain Tirthankaras (d) All four

DTG-F-GST/62B 3 [P.T.O.
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“Souls are not only the property of
animal and plant life, but also of rocks
running water and many other nmumi
objects not looked on as living by other
religious sects.” ‘

The above statement reflects one of
the core beliefs of which one of the
following religious sects of ancient
India?

(a) Buddhism
(b) Jainism
{c) Shaivism

(d) Vaishnavism

8. Who among the following rulers of

Vijayanagara Empire constructed a
large dam across Tungabhadra River
and a canal-cum-aqueduct several
kilometres long from the river to the
capital city?
(a) Devaraya I ’
() Mallikarjuna

(c) Vira Vijaya

(d) Virupaksha

9. Who among the following rulers of

medieval Gujarat surrendered Diu to
Portuguese?

(a) Ahmad Shah
() Mahmud Begarha
(c) Bahadur Shah
(d Muhammad Shah

10. By which one of the following Acts

was the Governor General of Bengal
designated as‘ the Governor General
of India?

(a) The Regulating Act
(b) The Pitt’s India Act
(c) The Charter Act of 1793
(d) The Charter Act of 1833

XDTG-F-GST/62B

11.

12,

In essénce, what does Due Process of
Law’ mean?

(a) The principle of natural justice
(b) The procedure established by law
(c) Fair application of law

(d) Equality before law

Consider the following statements :
Statement-] :
In India, prisons are managed by
State Governments with their own
rules and regulations for the
day-to-day administration of prisons.
Statement-II :
In India, prisons are governed by the
Prisons Act, 1894 which expressly

kept the subject of prisons in the
control of Provincial Governments.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-] and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is

not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect. but
Statement-II is correct

13. Which one of the following statements

best reflects the Chief purpose of the
‘Constitution’ of a country?

(@) It determines the objective for the
making of necessary laws.

(b) 1t enables the creation of political
offices and a government.

(c) It defines and limits the powers of
government.

B 4 ial
It secures social justice, soc
(d) equality and social security.

[P.T.0.
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1.

In India, which one of t} i

Constitutional Amcndmcn:s:cws::"\\nvi\:ll:‘]ls
believed to be enacted to
the judicial
Fundamental Rights?
(a)
(b)
fc) 44th Amendment
(d) 86th Amendment

, Consider the followin izati
: ¢ g organizations
bodies in India : /

_ overcome
interpretations of the

1st Amendment
42nd Amendment

1. The National Commission for
Backward Classes

2. The National Human Rights
Commission

3. The National Law Commission

4. The National Consumer Disputes
Redressal Commission

How many of the above are

constitutional bodies?

(a) Only one

(b) Only two

(c) Only three

(d) All four

. Consider the following statements :

If the election of the President
of India is declared void by
the Supreme Court of India, all
acts done by him/her in the
performance of duties of his/her
office of President before the date
of decision become invalid.
Election for the post of the
President of India can be postponed
on the ground that some Legislative
Assemblies have been dissolved
and elections are yet to take place.
When a Bill is presented to the
President of India, the Constituti'on
prescribes time limits within _whxch
he/she has to declare his/her
assent.

How many of the above statements are
correct?

(@)
(b)

Only one
Only two

(c) All three
(d None 3

XDTG-F-GST/62B

17.

With reference to Finance Bil
Bill in the Indian Parli
the following statements

2. When the Lok Sabha

3. In the case of

I and Money
ament, consider

| When the Lok Sabha transmit
smits

f’inmuv Bill to the Rajya Sabh
it can amend or reject the i,;n "

; trans
Money Bill to the Rajya g:g\}:t:

?t cannot amend or reject the Bill
it can only make recommendations.

disagreement
between the Lok Sabha and t}?c

Raj_ya Sabha, there is no joint
sx_tt?ng for Money Bill, but a joint
sitting becomes necessary for
Finance Bill.

How many of the above statements are
correct?

(@) Only one
(b) Only two
(c) All three
(d) None

18. Consider the following statements :

Once the Central Government notifies
an area as a ‘Community Reserve’

1. the Chief Wildlife Warden of the
State becomes the governing
authority of such forest

2. hunting is not allowed in such area

people of such area are allowed to
collect non-timber forest produce

4. people of such area are allowed
traditional agricultural practices

How many of the above statements are
correct?

(a) Only one
(b) Only two
(e) Only three
(d) Al four

(P.T.0.
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. " to ¢
mn Indla, - S(‘hcdul
statementg . Consider the N]'_n"/\rcag'
e Owj
1. Within a State Ing
an areg © the

not; 3
place th;’: Scheduleq t/l\ﬁr(;?‘h?" of
President. & an Ordey akes

2. The largest
forming the
District ang
cluster of vj

i
concerned Statesm:,t-crs
submit  annyg) reports
Union  Home 10 the
administration o On - the
in the States, ed Areas

How many

correct?

(a) Only one

(b) Only two

{c) All three

(d) None

20. Consider the following statements -
Statement-I :
The Supreme Court of India has
F held in some Judgements that the
| resgrvatmn policies made under
Article 16(4) of the Constitution of
India would be limited by Article 335
for ~maintenance of efficiency of
administration.
Statement-II :
Article 335 of the Constitution of
India defines the term ‘efficiency of
administration’, . |

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

' (b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I ¢

(c) Statement-I is  correct  but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

ry
f Schedy)

of the above Statementg are

XDTG-F-GST/62B

21,

¢
onsider the following statements
Statement-|

I
ndia, despite having uranium

flp“ﬂs"q' depends on coal for most of
Its electricity production

Statement-I1

Uranium, enriched to the extent of

at least 60%, is required for the
production of electricity.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-l and Statement-I1
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is

not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

22. Consider the following statements :

Statement-I :
Marsupials are not naturally found in
India.

Statement-II :

Marsupials can thrive only in montane
grasslands with no predators.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

[P.T.0.
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Database) belon 8 to :\\"ns‘wv \‘pp,-ip_q
following ""Ra”i;ﬁalions?"‘ h one of the

)

(@ The |p

lornmi
Onal
Consery

. Unj
alion of Nalllrc lion

or
b) The Uniteq n...
( : allong Envirom
rogramme g

(¢ The Uniteq Natj
Commissiop for nvi?c:;sm i
De\vclopment ent ang

(d)

The World Wide Fung for Natyre

24. Consider the following faung .

1. Lion-tailed Macaque

2. Malabar Civet

3. Sambar Deer

How many of the above are

generally
nocturnal or most active after

sunset?

(@) Only one
(b) Only two
(c) All three

(d) None

, 25. Which of the following organisms pgrform

‘ waggle dance for others of their kin
to indicate the direction and the
distance to a source of their food?

(a) Butterflies
(b) Dragonflies
(c) Honeybees | !

(d) Wasps

: 11
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26,

27 Consider the

o~

Onsider the fnllnwmp qtatr‘mﬂnt
4 . 8

. Some mus

hrfmm
S have a
prnp(‘.rtir‘q, Medicinal

2. §
'SmIne Mushroomsg have Psycho
active Properties.

3.
Some Mushroomg have Insecticida]
Properties.

4,

Some Mushroomg have biolumi-
nescent Propertieg,

€ statements are
correct?

(a) Only one
(b) Only two
(c) Only three

(d) Al four

following statements

regarding the Indian squirrels -

1. They build nests b

Y making
burrows in the ground.

They store their food materials like
nuts and seeds in the ground.

3. They are omnivorous,

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three

(d) None

[PT.0.
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(@)
(b)
(c)
(d)

(@)
(b)
(c)
(d)

1
2
3.
4

(a)
(b)
(c)

How many of the aboye
co]’fCCt?

sider the following statements -
hghas. Cor

Some Mmicroorganisms

' » can grow
in environments with temperatyre
above the boiling point of water,

Some microorganigmg can
in environments with, temper

A ature
below the freezing point of w

ater,
Some microor

in highly acidj
a pH below 3,

Banisms can Brow
C environment with

statements are

Only one
Only two
All three

None

29. Which one of the following makes a tool

with a stick to SCrape insects from
a hole in a tree or a log of ‘wood?

Fishing cat
Orangutan
Otter

Sloth bear

30. Consider the following :

Aerosols i

Foam agents
sl L 3

Fire rctardant; .

Lubricants

In the making of how many of the above
are hydrofluorocarbons used?

Only one
Only two
Only three

(d) Al four

XDTG-F-G ST/62B

31,
] Jhelum
Wular Lake
2. Krishna
Lake

W

How many

above are correct?

Meandering of
formed Kanwar Lake.

Consider the following statements

River passes through

River directly feeds Kolleru

Gandak River

of the statements given

fa) Only one
(b) Only two
(c) All three

(d) None

32. Consider the

Port

1. Kamarajar Port -

2. Mundra Port

3. Visakhapatnam -

Port

How many

following pairs -

Well known as

- First major port in India
registered as a company

: Largest privately owned
port in India

: Largest container port in
India

of the above pairs are

correctly matched?

(@) Only one pair
(b) Only two pairs
fc) All three pairs
(d) None of the pairs

33. Consider the
L

2. Mahua

following trees :

Jackfruit (Artocarpus heterophyllus)

(Madhuca indica)

3. Teak (Tectona grandis) -

How many of the above are deciduous

trees?

(a) Only one
(b) Only two
(c) All three

(d) None

[ P.T.O.
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- Consider the following statements

ia has more
1. India arable
China. area than

5 The pr(.)portion of irrigated i
more in India as gompagzga 0
China. 1

3. The average productivi
hectare 1n Indian agﬁm;}zur per
higher than that in China e is

?Oor\:; :tqgny of the above statements are
(@) Only one

(b) Only two

(c) All three

(d) None
which one of the following is the best
example of repeated falls in sea level,

giving rise to present-day extensive
marshland?

(a) Bhitarkanika Mangroves
() Marakkanam Salt Pans
(c) Naupada Swamp

(d) Rann of Kutch

35.

[lmenite and rutile, abundantly available
in certain coastal tracts of India, are
rich sources of which one of the

following?

(a) Aluminium

(b) Copper * .
(c)
(d) Titanium

36.

Iron - g

37. About three-fourths of world’s cobalt,
manufacture

a metal required for the

of batteries for electric motor vehicles,

is produced by
(a)
(b)
(c)

Argentina

Botswana

the Democratic Republic
Congo

Kazakhstan

of the

()

XDTG-F-GST/62B

38. Which one of the following is a part of
the Congo Basin?

(@)
(b)
(c)
(d)

39. Consider the following statements :

Cameroon
Nigeria

South Sudan
Uganda

the
and

are at
Vindhya

| ¥ Amarkantak Hills
confluence of
Sahyadri Ranges.

2. Biligirirangan Hills constitute the
easternmost part of Satpura Range.

3. Seshachalam Hills constitute the
southernmost part of Western
Ghats.

How many of the statements given

above are correct?

(a)
«b)
(c)
(d)

40. With
connectivity,
statements :
1. East-West Corridor under Golden

Quadrilateral Project connects
Dibrugarh and Surat.

o Trilateral Highway connects Moreh
in Manipur and Chiang Mai in
Thailand via Myanmar.

3 Bangladesh-Ctﬁna-lndia-Myanmar
Economic Corridor connects
Varanasi in Uttar Pradesh with
Kunming in China.

Only one
Only two
All three

None

India’s projects on

reference to
the following

consider

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) Al three
(d) None

[P.T.O.
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ider the following statements -

43. Consider the following

qt;nr‘rnr-ntq

cons
41' tate (’,nt" ‘ ’

Inte;’rf?rtas::ljggic f;gvm the deposits gtatement-I
o vITs) distributed to t?t'mgm Trusts Carbon markets are likely to be one of
- mpted from tax b €Ir investors is the most widespread tools in the fight
exvfabrl)e » but the dividend is against climate change
ta’ ;

tatemcnt—" : gtatement-I1 :

4 IvaTs are recognized as bo Carbon markets transfer resources
under the ‘Secu'n'tization and r};:‘:crs from the private sector to'the State.
struction of Financial Assets < Which one of the following is cm:recr in
Enforcement of Security Interest :2? respect of the above statements?
2002 i (a) Both Statcment-l and Statement—]l

are correct and Statcmcnt—ll is the
correct explanation for Statement-l

42.

ich one of the following is correct in

Statement—ll

wh

respect of the above statements?

(@) Both Statement-I and Statement-II (b) Both Statement-1 and
are correct and Statement-II is the are correct and gtatement-Il 18
correct explanation for Statement-I not the correct explanation for

(b) Both Statement-I and Statement-II Statement-]
are correct and Statement-II is (c) Statement-I js  correct but
not the correct explanation for Statement-II is incorrect
statement-I (d) Statement-] ijs incorrect Dbut

Statement-II is correct

(c) Statement-I ijs  correct but
statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

Consider the following statements :

Statement—l -

In the PO

st-pandemic recent past,
many Central Banks worldwide

had

f the following activities of

44. Which on€ 0O
Bank of India is considered

the Reserve
to be part of «sterilization™?
rket

(a) Conducting ‘Open Ma
Operations’

settlement and

(b) Oversight of
* payment systems

(c) Debt and cash manag
d State Governments

ement for the

carried out interest rate hikes.
statement-II : ‘ -
Central Banks generally assume that Central an
(@) Regulating the functions of Non-
jal Institutions

ct the

bility to countera
prices via monetary

they have the &
rising consumer
policy means.
Which one of the
respect of the a

(a) Both Statemcnt—l and Statement—ll

tatemcnt—ll is the
correct explanation for Statement-1
(b) Both Statement-] and statement-1I
are correct and Statement—ll is
not the correct explanation for

45. Consider the

banking Financ
following markets :
1. Government Bond Market
2. Call Money Market

3. Treasury Bill Market

4. Stock Market

How many of the above are included

in capital markets?
(@) Only one

Statement-I
(c) Statement-1 18 correct  but ) Only two
Statement-II is incorrect
incorrect but (c) Only three
(@ All four

(d) Statement-I 1S
Statement-II is correct

17
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which one of the followiy,

€ g
the concept of ‘Smay F:::ndescribeq
er | &

Ficld‘? 4arg
esettlement

(@) Rese of a far
of people, UpProoteq gfe Umbey
countries due ¢, e T thi,

them a large oy
they cultivate co
the produce

ltivablc'l y Biving
an :
lleCtive]y and \':hlch

(b) Many margina] farmerg ;

i n

organize themselves into an areg
and synchronize and Broups
selected agricultyry. armonize

al operationg

(c) Many marginal fy

or which
corporate body makes o paymg:i
of agreed amount to the farmers
(d) A company extends loans, technj
» technical
knowledge and Mmaterial inputs to

a number of sma] farmers in

an area so that they produce the

agricultural commodity required
by the company  for
manufacturing process
commercial production

its
and

47. Consider the following statements :

1. The Government of India provides
Minimum Support Price for niger
(Guizotia abyssinica) seeds.

2. Niger is cultivated as a Kharif crop.

3. Some tribal peofale i’r:l"‘lndia use
niger seed oil for cooking.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None

XDTG-F-GST/62B

19

48,

Consider the investments in the following

assets

1. Brand recognition
2 Inventory

3. Intellectual property
4. Mailing list of clients

How many of the above are considered
intangible investments?

(a) Only one
(b) Only two
(c) Only three
(d) All four

49. Consider the following :

1. Demographic performance

2. Forest and ecology

3. Governance reforms

4. Stable government

S. Tax and fiscal efforts

For the horizontal tax devolution, the
Fifteenth Finance Commission used

how many of the above as criteria

other than population area and income
distance?

(@) Only two
(b) Only three
(c)- Only four
(d) Al five

50. Consider the following infrastructure

sectors :

1. Affordable housing

2. Mass rapid transport

3. Health care

4. Renewable energy

On how many of the above does
UNOPS Sustainable Investments in

Infrastructure and Innovation (S3i)
initiative focus for its investments?

(a) Only one
(b) Only two
(¢) Only three
(d) Al four

[ P.T.O.
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51 with reference tqo Ho

the following Statemem Uarqg
(8

1. Home Guarqg
S ar : 53, o .

Home G‘Jards N r&lsed Unde ("’n‘lldcr the follow: .
the Ccn“—a] GOVC:;E and I the Ng pairg

8, Consider

Ule RP( ]
’ . Mme S of glons o
2. The role of ¢ at. "l(’llh()ne(l B x Reasor 4
to Serve a c HO e G ] in news 1 for bemq
S i , n P
the i a.n auxilj Uardg is - North Kivu 4 1 : news
pOhCe i a Orce " nc Ifun . War })FTW
- “Lween

internal S€curity Tiainteng
3. To Prevent :

_ \ Mfiltrat

Internationg) bor cer/con 1

the Border Wi g

Battaliong h g

nCc Of /\rmgma and

AZerbaiJan
¢ Insy rgency in
Mozambirlue

2, Nagorno~Karahakh

’ 3. Kherson ang

ave Muardg , : Dispute
some Stateg. bee raiseq in Zaponzhzhia lsrazl a;d LZ?::;\E::
How many of the
above stat How many of th :
correct? €ments are correctly matched?e above pairs are
(@) Only one (@) Only one
(b) Only two
(b) Only two
(c) All three (©) Al th
; C t
(d) None o

(d) None
52. With reference to

India, :
following pairs : - Consider the

54. Consider the following statements -

. The Act under
Action which it is covered Statement-I :
. : : Israel has established diplomatic
1. Unauthorized wearing : The Official Secrets : '
of police or military Act, 1923 - relations with some Arab States.
uniforms Statement-II :
: : s . : : The ‘Arab Peace Initiative’ mediated by
2. Knowingly mlslegdmg : The Indian Evi- Sl Bbid wes sl by terac
or otherwise inter- dence Act, 1872 Ll
fering with a police < and Ara ague.
officer or military - y - ‘
ed ' Which one of the following is correc
officer when engaged !

in respect of the above statements?
' - Statement-II
; - (a) Both Statement-I and .
nfire : The Arms (Amend- d Statement-1I is the
3. CCI_CbT atory  gu Act, 2019 ; are correct and ! - shady
which can endanger ment) Act, correct explanation for

the personal safety of (b) Both Statement-1 and Statement-II
others S ' ‘ are correct and Statement-lI is

‘ anation for
i t the correct explana
bove pairs are no
How many of the a ‘

Statement-I
correctly matched?

Statement-1  is
(a) Only one (e) Statement-1I is incorrect

incorrect  but

in their duties

correct  but

-1 is
; b)} :1111 lfhrt::, : v g::::;ﬁ:ﬁt—ll is correct
G # Sl oy TR
d) None -
AT [P.T.0.
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56. Consider the followin

Consider the

f()”()\\,m
to sports aw

ards .

Major Dhyan (‘Imnd LR

" khel Ratna Awarq SI());N the Moy
““lacy)y .
Outg a \din and
for Ance per
Sponsp son ] &
Periog Over
. Yearg t foy
9. Arjuna Award For h
, AL the y
achieve, lifetin
Spor
3. Dronacharya Awarg o ‘;0 Sperso
0 e 4
Coacheg ml}?:m
SUccegg trainvg
Sportspe
: teamg ]
4. Rashtriya Khel Tt
. -O8hize
Protsahan Puraskar contributio he
SPortspersong
€ven ter  their
retlrement
How many of the

correctly matched? above pars are
(@) Only one

(b) Only two

(c) Only three

(d) Al four

g statements in

respect of the 44th Chess Olympiad,

2022

1. It was the first time that Chess
Olympiad was held in India.

2. The official mascot was named
‘Thambi’,
3. The trophy for the winning team

in the open section is the Vera
Menchik Cup.

4. The trophy for the winning team
in the women’s section is the
Hamilton-Russell Cup.

How many of the statements given
above are correct?

(@) Only one

(b) Only two

(c) Only three

(d) All four

XDTG-F-GST/62B

§7. Consider the fullnwmg pairs
Area of confliet Country where
mentionect n news it is located
| Donbasg Syria
2, Kachin Ethiopia
3. Tigray

How many of the
correctly matched?

North Yemen

above pairs are

(@) Only one

(b) Only two

fc) Al three

(d) None

58. In the recent years Chad, Guinea., Mali
and Sudan caught the international
attention for which one of the following
Teasons common to all of them?

(@)

(b)

(c)

(@

Discovery of rich deposits of rare
earth elements

Establishment of Chinese military
bases

Southward expansion of Sahara
Desert

Successful coups

[P.T.O.
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consider the fO]]owing h
' Cavy ind

59
Fertilizer UStrie ,
1. p]ants ) 61 .
+ With reference to the Indi
( Oil r : Al - 1an  History,
2. efinerieg €xander Rea, A, H. Longhurst Rohry
Sewell, James Burgess and Wal.t, } -
$s a er Ell
3. Steel plantg Were associated with ba .
Green hydrogen jg €Xpecteq () archaeological excavations
a significant role i p 0% piy
) €carbon;i.: y .
many of the aboye industrie:;Zl g how (b) ‘és‘]""b"s}‘mem of English Press in
olonial India
(a) Only one
(c) establishment of Churches in
(b) Only two Princely States
(c) All three (d) construction of railways in

Colonial India
(d) None

; y 62. Consider the following pairs :
60. Consider the following statements about

G-20 :
Site Well known for
1. The G-20 group was originally
established as a platform for the 1. Besnagar . Shaivite cave shrine
Finance Ministers and Central
Bank Governors to discuss the 2. Bhaja . Buddhist cave shrine

international economic and

financial issues. 3. Sittanavasal : Jain cave shrine

>, Digital public infrastructure is one |

of India’s G-20 pnoﬂﬁﬂ . How many of the above pairs are
. correctly matched?

Which of the statements given above

is/are correct? | _ (a) Only one

(a) 1 only (b} Only two

(b) 2 only () Al three

(c) Both 1 and 2 iy Wi

i 1 nor 2
(d) Neither -
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65 5"(“72611 August 18 decl

D areq
Hand100T TEEN o the Natjg,

52 was in 1905 g
Mo\'ement was laung

t the
heq ot SM..H

\\’hich one of the fi

Ollow;
in respect of the aboye \:ltzge s Ofrect
a) Both Statement‘l a -

entyp
are correct ang '

o
correct explanation }ﬁ?;*t;t;u S the
(b) Both Statemc.nt_l an m

Rtyeree.
are correct an tJeﬂle'nt-n
not the correct E‘x‘;tementm is
Statement-] ANation  fo,
Statement-1 g ' ¥

¢ correct

“ Statement-II is incon‘.:ct ~ but

(d) Statement-1  ig h‘@oﬂé& ]
Statement-Il is correct . 4

consider the fc lowing me:

" espect of the N

according to%
2002 : o

A “'
Statement-l1 : o i
One of ‘th
the Nation

) ,
600 mm x4 A T 8
Statement-1I':

The ratio of

(width) of
Which one
in respect

e
=)

B B
i
b wr
A
<.

. Ty

65, Consider the

tat i
respect of the Cm statements in

tion Day
shTt;?em-l ;
2mh(‘-;:mumtkm Day is celebrated on

ovember every year to promote

constitutional values zmong citizens.
Statement-11 -

On  26th November, 1949, the

stituent Assembly of India set up

a Drafting Committee under the
Chairmanship of Dr. B. R. Ambedkar
:odi.prepne a Draft Constitution of
ndia,

Which one of the following is correct
in respect of the above statements?
(@) Both Statement-1 and Statement-Il
are correct and Statement-Il is the
correct explanation for Statement-1

Both Statement-1 and Statement-il

(b)

" are correct and Statement-ll is

not the correct explanation for
Statement-1

(¢ Statement-] is correct but

- TX Statement-Il is incorrect

l d) Statement-1 is incorrect but
'g Statement-1l is correct

p T
1 i
L
e
. i
i
i

¥l
land is one of the leading
of gold in terms of value.

correct explanation
Botl'nstmeuum-l"““3"“‘”'“'1!l
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consider the fOHOWin

Statement—l i " 'tatefnent. .
Recently, the y J

67

nit, '
(USA) and the E\igo tates of Ame; 89. Consider the following statements :
have launched thpe&n Unio rica
Technology Coungip ¢ -rmde“ (Eu) The ‘Stability and Growth Pact’ of the
gtatement-II : and European Union is a treaty that

The USA ang

] the ~ 1. limits the levels of the budgetary
through this they , U claj th deficit of the countries of the
technolqgcal mgresatl'yxng to b m:t European Union
productivity under tpq: 204 Dhy.{c:l 2. makes the countries of the

which one of the f, n." Contro], European Union to share their
. ollows; ' in acilitie
i TESPECE Of the aboye WIS S GOt 3. cnabien thecouniics of the
(a) Both Statement; and § B European Union to share their
are correct and Statem tatement.y technologies
correct explanatiq ﬁ‘,‘e.nt-ll is the ‘
(b) Both Statement. —]n o statgment.l . How many of the above statements are
are correct ang ms‘d Statement-; correct?
Stateme : ;b) A y ::e
(c) Statement g A & Onbtw
Statement —' - [o) Al three

(d) None
Statement: -

68. Consider the fol

Statement-I :
India accou
export of go

Statement-li

Many loc

foreign co

onsider £hﬂc_ following statements :
ecently, all the countries of the
ited Nations have adopted the
irst-ever compact for international
migration, the ‘Global Compact
for Safe, Orderly and Regular

bl
DC Ny

in respect 2 ¢ internally displaced
o ant Sl II ople in its objectives and
How many of the above statements are

~t7
£y
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co :
7 pulgaria
1.

Hungary
tvia
4. L
5 L,'thuam'a
mania
6. 8

o untries share a
Ukraine?

follo
.der the W‘ln' c
ns! 0%.

czech Republic

land bord

Mentioneq
er with

73. Consider the following statements :

Statement-1 :
The soil in tropical rain forests is rich
in nutrients.

Statement-11 :

s cause
of tropical rain forests
de-dorpnicm-ﬁcfhm"“”
decompose quickly. -

Which one of the following is correct
respect of the above statements?
Statement-11
(a) Both Statement-1 and
and

(b) Both Statement-I and statement-1I

emcil
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75.

76.

Consider the '“ll“\\lnk
Satem
S €l '
] In a gef mnp:mpl p
"COTd
recorded Carliey Aye
' th 1 8§ 8 Are
2 In P Waves N . \'”‘""ﬂ
vibrate tq . ( ‘mh\'i(lnnl .
of way and frg jp th i cley
f e A ¢ !
R it ‘"”““Ri\lnm \arection
N Waves, the we . ‘I"“'(‘nq '
and dowy Particleg ibrage o
directioy of . Fight Angles (Pon
' of waye Propag ' 0 the
ARation .
Which of > sty
the Slatementg
is/are correct? Y Blven aboye
(@ 1 only
(b) 2 only
(¢) Both 1 ang 2
(d) Neither 1 nor 2
With

following statements -

1. None of them uses seawater.

2. None of them: is  set up in
water-stressed district,

K

None of them is privately owned.

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None

77. Wolbachia method’ is sometimes talked

about with reference to which one of
the following?

(@) Controlling the viral diseases
spread by mosquitoes '

(b) Converting crop residu’es into
packing material | '

(c) Producing biodegradable plasmcso |

(d) Producing biochar from therm

i jomass
chemical conversion of biom

XDTG-F-GST/62B
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78

.« Onesj¢

|

l"' the fo

Ilnwmy_ aActivitieg

finely Bround hg

Q
‘Preading

on f;nml;m«lq ex

Salt rock
|l|l re

tengively
asing the

alkalinit
by adding lime Y of oceans

S and um
;lh;nnrlr,n,.d PUmping

mines in the form

Waterg

How m

any of the aboy
often

considered ang
carbon capture and seq

(a)
(b)
(c)
(d)

‘Aerial metagenomics’ best refers to
which one of the following situations?

(@) Collecting DNA samples from air
in a habitat at one go

(b) Understanding the genetic makeup
of avian species of a habitat

€ activities are
discussed for
uestration?
Only one

Only two
All three
None

79,

fc) Using air-borne devices to collect
blood  samples

from  moving
animals

(d) Sending drones to inaccessible
areas to collect plant and animal

samples from land surfaces and
water bodies

80. ‘Microsatellite DNA’ is useq in the case
of which one of the following?

(a) the evolutionary
among  various

Studying
relationships
species of fauna
i i ! Is' to
timulating  ‘stem  cells’
tSransform into diverse functional
tissues | f
Promoting clonal propagation o
horticultural plants {
Assessing the efficacy of dn}g}ss ix};
conducting series of drug tri
a population

(b)

(c)
(d)

[P.T.0.
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Consider th

82. Consider the following

n follow
relation to ‘Ja"lan] q‘h . Mente .
It ot
1 Ofl'shacsiitfc Motherhg, ' Yojang ;
) Its b'\ " ”Oa“h I)P)m:nvvmim\
2. 50 o : 1
and ni‘zcnmp 'S 10 redyyee i
pregnant a\ta‘ Mortality o Aternaj
. VOmen Ong Poor
3. It aimsg {
delivery PTomote jngtis, .
W oy mong rns“tuhonnl
omen. Drcgnam
4. lIts objective
. Ve inelug A
_pufbhc health acih:i:s Providing
Iniants up tq one year of o sick
age,
How many of th
’ € st
above are correct? atements given
(a) Only one
(b) Only two
(c) Only three
(d) All four

statements in
rventions  being
Anaemia Mukt

the context of inte
undertaken wunder
Bharat Strategy :

1. It provides prophylactic calcium
supplementation for pre-school
children, adolescents and pregnant
women.

2. It runs a campaign for delayed
cord clamping at the time of child-
birth.

3. It provides for periodic deworming
to children and adolescents.

4. It addresses non-nutritional causes
of anaemia in endemic pockqts
with special focus on malaria,
hemoglobinopathies and fluorosis.

How many of the statements given
above are correct?

(a) Only one:
(b) Only two
{c) Only three
(d) Al four

F-GST/62B

83,

Cons
i
ler the fnllnwmp stat
! ementg

| oF !
arbon fibres are

Ynanufartnn of com
in automobileg and

used in

Php
ponents yged
aircrafts

Carbon fibres once

used e«
recycled. annot be

Which of the stateme

i nts given aboye
is/are correct?

(a) 1 only
(b) 2 only
(¢) Both 1 and 2

(d)_ Neither 1 nor 2

84. Consider the following actions :

1. Detection of car crash/collision
which results in the deployment of
airbags almost instantaneously .

2. Detection of accidental free fall of
a laptop towards the ground which
results in the immediate turning off
of the hard drive

3. Detection of the tilt of the smart-
phone which results in the rotation
of display between portrait and
landscape mode

In how many of the above actions is the
function of accelerometer required?

(a) Only one
(b) Only two
(¢) All three
(d) None
[P.T.O.

Scanned with CamScanner



T o reference 1q
in Recirculatip

to nitrate,
Biofilters increase

- phos ‘
nutrient for figp, » watel:horus as

'. P i e, e

i

1]

'nSQ

= 11
L

[

“:::ic:w;n ;::emm:e NM;". ““S';t::; has
?

(a) Aum

(b) Canada

fc) lsrael

‘\" "
Srah

Ccorrect-’
b = T A

e v

) Yhe g .

B o i
& ._ i B 1 e o
‘ Gely L =10
0144 b
L3 : :
- (a) ! xs. }_1:F] we N

[y e

e < ol -
Ry topshl - TREE
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ey

b
E .
i

i

.

Scanned with CamScanner



4

ider
g9. Conside: B ¥
egardin n
reg B Mercyry po““tglon tatemem!

Consiqey t
o
1. G;):: mng Activity |, ;Cferen“ to ln‘:‘;’"f“! Statements wig,
ere a g . ; :
u Pollutlon in the ‘:(:-lrl]‘gc :dcecdo'rdms ty?tethe ‘Miero, Small ang
2. Coal-bage (MSMED) Act.rgﬁo:s", Dﬁm
Cau‘e mercu “ POWer plant! entcrpﬁ'e., ar thm
Pollutiop, Tvestments gy e With
3. There i vachinery between ¢ '1,5 c:'ore :ﬂ
eXposur, kno e level of 5 crore,
€ 10 me 2, Allbanklonnnotheuicmm
and Medium Emtrprhe.
How many of the e under the priority
| oS € Statementg are Which of the statcmem. dven above
is/are correct?
fa) 1 only
(@) Only one (b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

» With  reference to Central

digital currencies, consider the lollo-m.
statements :

1. lt 1s

AR T
&r_ﬁ'ﬁiﬁw“ —

whlchofﬂ‘: ‘}“;qn-ﬂ

aﬂlble ”_ make ‘payments
mthoutu-ng

s given above

Scanned with CamScanner



g4. Consider the folloy,

I. The ng statcmom
Program If-He) Gr
e L Nin
Y the Wa Ol‘lgma” Iln"S”('
Y Proviging - Bank ated
Nancia])y, d ICrocreq o "tf:m
& In 1€
takinri”(}, all
an lnd ponslblhtv fi r Ora Broy D
3. The g 2 Member g 22" tha
€ Reg; akes
SChedu‘igﬂOnal Rural Bappq d
SUpport gy mercial  Bape
How man
of
correct? Y of the aboye Statementg gy,

(c) Al three
(d) None

95. Consider the following statements :
Statement-] :

India’s public sector health care system
largely focuses on curative care with
limited preventive, promotive and
rehabilitative care,
Statement-II :

Under India’s decentralized approach
to health care delivery, the States are
primarily responsible for organizing
health services.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

' —I1
: Statement-I and Statement .
- ;':;thcorrect and Statement-II is

not the correct explanation for
Statement-I

i rrect
Statement-1 is €0
v Statement-II is incorrect

() Statement-I .ie inc;orrect but
Statement-II is correc

but

41
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on )
Sider the l'ullnwmp

Q Stateme
S””N“"“' : Nnts
Ceordin
2 B to ¢
Wmlll W ne United Nationa’
, ater  Deyel -
2029 ' opment Re Ort
““y India  extrs o
8 Quaries of ¢ ,ull]q more than
1€ world’s I wWs
Wl”lflrnw;nl i groundwater
Mu!vmcnt |
Indi; .
.I(ll'l needs to extract more than
a o
(“"1]1 irter of the world’s groundwater
ach ye ar to satisfy the drinking water
and sanitation needs of almost 189
of world's population living in its
territory,

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-1 and Statement-I]
are correct and Statement-II is the
correct explanation for Statement-|

(b) Both Statement-I and Statement-I1
are correct and Statement-Il is
not the correct explanation for
Statement-I

(c) Statement-I is  correct but
Statement-II is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

97. Consider the following statements :

1. According to the Constitution of
India, the Central Government has
a duty to protect States from
internal disturbances.

2. The Constitution of India exempts
the States from providing legal
counsel to a person being held for
preventive detention.

3. According to the Prevention of
Terrorism Act, 2002, confcssion_of
the accused before the police
cannot be used as evidence.

How many of the above statements are
correct?

(a) Only one

(b) Only two

(c) Al three

(d) None

[P.T.O.
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. which one of the following countries has
been suffering from decades of civil strife
and food shortages and was in news

in the recent past for its very severe
famine?

9

(a) Angola
(b) Costa Rica
(c) Ecuador
(d) Somalia

99. Consider the following statements :

1. In India, the Biod!

R
.

100. Consider the following statements in
respoctofelectiontotho?rﬂdentd
India :

1.

et
TINININE I
11 1C -

The members nominated to either
House of the Parliament or the
Legislative Assemblies of States are
also eligible to be included in the
Electoral College.

Assembly seats, higher i .-
value of vote of each MLA of that

State.

The value of vote of each MLA
of Madhya Pradesh is greater than
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